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(c) BRI FHUTHS
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FAAT FOTHS

2. afe (@-b)b-c)c-a)=2 K

TR ?

@ 3

(b) 12

() 14 §<\Q®
(d 15 &

3.%%%%@?9%:@%3&‘&#

a b c
RS |b ¢ a| g BT R 2

c agd

l.a+b+c=0

2. @+ b+ =3abe
3.a+b+c2—ab-bc—ca=0
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(a) a1 3R 2

(b) %a« 2 3R 3

(c) ¥a91 1 3R 3
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4. TG A=[m n], B=[-n —m] 3R
c=| | & v ¥ e
ﬁﬁﬂﬁﬁﬂq:

1. CA=CB
2. AC=BC

3. C(A+B)=CA+CB
T H ¥ HH-A1 /-4 TG a8
/% ?

(@) ¥ 1

(b) e 2

(c) 23Rk3

(d) 132

2sinf@ cos@ 0
5.3 A=|-2cos® sin® o0 & A

-1 12559
A(adjA) Tras sez & 7
(a) I R
(b) -1
(¢). T
(d 21

Sl ] & qoansh AR € |

6. k% T w1 & forg smege

1-2sin’0 2cos?0=1 3
k 2% 1

FHANT ® ?

(a) ¥a 0

(b) F=a 1

(c) ¥aa 2

(@) et oft arafas a9

[ 2co0s26 2cos28 6}
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1pg Skt 50 |
1.L.IfA;=|1 ¢ r|andA,=|q r p
Iir p rpgq

where p#q#r, then A, + A, is

(@ o0

(b) always posiﬁve

(c) always negative

(d) positive if p, g, r are positive else

negative

. If (a—b)b—-c)c—a)=2 and abc =6,
then what is the value of

. Under which of N following condi-
tions does the@tenninant

a b c
b ¢ a
c.ab

vanish ?

l.a+b+c=0
2. @ +b+=3abe
3.2 +b+cZ—-ab-bc—ca=0

Select the correct answer using the
code given below :

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d 1,2 and 3

4. Consider the following in respect of

the matrices :

A=[m n], B=[-n —m]-andc=[_:'n]

1. CA=CB
2. AC=BC
3. C(4+B)=CA+CB

Which of the above statements is/are
correct ?

(a) 1 only
(b) 2 only
(c) 2and 3
(d)~1 and 2

2sin@ cos@ 0

L If A=|-2cos@ sin@ 0 , then

-1 1 1
what is A(adjA4) equal to ?
(a) Null matrix
(b) -1
(c) 1
(d) 21

where [ is the identity matrix.

. For what value of k is the matrix

1-2sin%0 2cos’0-1 3
k 5 R

singular ?

[200529 2c0s260 6:|

(a) O only
(b) 1 only
(c) 2 only
(d) Any real value

A - SDFR-S-HTM
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FH-A1/BA-X Faq e 2/F 7 R BA=B B | Trafafes #
1. AB = BA _ F-1/HH-4 FIT GE 2/E 7

2. AB @& sfewr smegg 1. 42=4

3. AB U% Y@ ITE B Al © 2. AB?>=4?B

¥ fou T Fe W W@ W g8 IR Ea L B L ol e 1 e T
T : | 3

(@) Fad (a) Faa

(b) ¥ 1 3R 2 (b) e 2

(c) ¥ 2 (© 13R23i

@ 1,233 d) TR LTH2

s.waﬁﬁ%aﬁa@Aaﬂ?Bﬁ; \ :
Gy # fraffem #99 w few 11.(1+%)(1—%)%mﬁﬁaﬁva
i '\
1. 3¢ 4B T = g §, A4 R ‘
B ¥ ww-d-aw aﬁ'{\@%ﬂ 2
§\
Q

o ®) ig
2. af AB T & e
BA=AB# @Q 120
I & F e/ T 12. (x + )0 % WOR ¥ waw § Frafie
/%7 Tl | fEr it .
@ Sa _ 1w ¥ wh i F A6t w %
(b) Fae 2 - TS A St ®
© 18R 23 2. @R ug T T, 97 ug F Yoriw
(d FA 1,72 o
9.3f% 4, Ffe 3 = T qTEHS e SETH § ¥ -1 /- F99 Get
R 3R B zmw wRad ? @ smE /82
C=A+B % Urfoes &1 7+ 1 § 7 (a) Fa1
(@ 1
b ; (b) Fa 2
© 4 () 13ﬂuaﬁf_
(d) 8 (d T 1,782
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7. Let A be a non-singular matrix and

B=adjA. Which of the following
statements is/are correct ?

1. AB = BA
2. AB is a scalar matrix
3. AB can be a null matrix

Select the correct answer using the
code given below :

(a) 1 only

(b) 1 and 2 only
(¢) 2 only

(d) 1,2 and 3

8. Consider the following statements in

respect of square matrices 4 and B of
same order :

1. If AB is a null matrix, then at least
one of A and B is a null matrix.

2. If AB is an identity , then
BA = AB.
&

Which of the abov: Qg&ements 1s/are
correct ? Q
( S

a) 1 only
(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

9. If A is the identity matrix of order 3
and B is its transpose, then what is the
value of the determinant of the matrix
C=A+B?

(@ 1
(®) 2
() 4
(d 8

10. Let A and B be non-singular matrices

of the same order such that AB = 4 and
BA=B. Which of the following
statements is/are correct ?

1. A2=4
2. AB>=A%B

Select the correct answer using the
code given below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither I'nor 2

11. How miany ‘terms are there in the

9 9
expansion of (1-&-%) (1—-%) ?

(@ 9
(b) 10
(© 19
(d) 20

12. Consider the following statements in

respect of the expansion of (x +y)'°:

1. Among all the coefficients of the
terms, the coefficient of the 6th
term has the highest value

- 2. The coefficient of the 3rd term is
equal to coefficient of the 9th term

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

A — SDFR-S-HTM
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13.

14.

15.

16.

afe C(3n, 21)=CGn, 2n-7) &, @
C(n, n—5)% AW 51 & ?

(a) 42
(b) 35
(c) 28

@ 21

C(51, 21) - C(51, 22) + C(51, 23) -
C(51, 24) + C(51, 25) - C(51, 26) +

C(51,27) - C(51, 28) + C(51, 29) —

C(51,30) &1 |\ F1 & ?
@ C(51,25)
(S) C(51,27)
(©) C(51,51)-C(51,0)

N
d C(51,25)-C(1, 2:»')§g<\Q

300311(400%&?@@?%:&%
@ § e & o s G
el BT o ?

(a) 32

(b) 36

(c) 40

(d) 45

¥ ‘TIGER’ & &1 & W forew

9T & o X o WE ) A AR
B ?
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17.

18.

19.

(a) 72
(b) 36 -
(c) 18
d 12

HE ?-ﬁf%rq a 3R B, [t
x2+px+g=0% 7@ § | Al o3 3K
B3, THERT x2+ mx+n=0 % G ¥,
WA m+nH A TR ?

@@ pP’+q¢ +pg

®) P*+¢*-pg

(©) pPP+q>+3pg

(@ pPP+q°-3pq

|9 Fﬁﬁl‘l{aﬁ?ﬁ, TR
xz—ax—bx+ab—c=0a?‘ﬂ§f g1

T F-a1 fimma e € foms q@
a R bE ?

(a) xz—ax—ﬁ'x+aﬁ+c=0
) 2-—ax-Px+aBf-c=0
(c) x2+ax+ﬁx+a)3+c=0

(d P+ax+px+aBf-c=0

af; wfiam
x2—ax—bx—cx+bc+ca= 0% 7@
R ¥, @ frafafea & @ fF-a
ww R

@ a+b+c=0
b) a-b+c=0
() a+tb-c=0
d -a+b+c=0
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13. If C(3n, 2n) = C(3n, 2n—7), then what

14.

15.

16.

is the value of C(n, n—-5) ?
(a) 42

() 35
(c) 28

@ 21

What is the value of
C(51,21)-C(51,22)+ C(51, 23) -
C(51, 24) + C(51, 25) - C(51, 26) +
C(51,27) - C(51, 28) + C(51, 29) -
C(51,30) ?

(@) C(51,25)
() C(1,27)
() C(51,51)-C(51,0)
"~
(d) C(51,25)-C(51,2%®
\Q‘Z)-
How many od ers. between 300

and 400 are thefe'in which none of the
digits is repeated ?

(a) 32
(b) 36
(c) 40

d) 45

How many permutations are there of
the letters of the word ‘TIGER’ in
which the vowels should not occupy
the even positions ?

17.

(a) 72
(b) 36
(c) 18
(d) 12

Let a and B be the roots of the

" equation x2+px+g=0. If a® and

18.

19.

B> are the roots of the equation
x2+ mx + n=0, then what is the value
of m+n?

@ PP+’ +pq

®) PP+a’~pq

(©) P*+¢+3pq

@ p’+q’-3pq

Let a and B be the roots of the equa-
tion x2—ax—bx+ab—c=0. What is

the quadratic equation whose roots are
aand b?

(@ P2-ax—Px+af+c=0
b) *-—ax-px+af-c=0
(c) 2+ax+px+af+c=0
d P2+ax+px+af-c=0
If the roots of the equation

¥—ax—-bx—cx+bc+ca=0

are equal, then which one of the
following is correct ?

@ a+tb+tc=0
) a-b+c=0
(c) atb-c=0
d -a+b+c=0

A — SDFR-S-HTM
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20. 9 BT @ IR B (a> B), G

21.

.rz-—8x+q=0%1ﬂ'%l
e a2 - B2=16%, A g = W T
g7

(@ -15
(b) -10
(c) 10
d 15

n & 98 Jftewaw AW w g, Pas
ferw (301 +351), 57 & fwrsa R, w=ia

T g9 e § 7
(a) 4
() 6
(c) 7 |
n
@ 8 N
. &
Q‘Zr

22.

23.

N
z(zx1)+3(3x2x&§\4(4x3x2x1)+
5(5x4x3x2x1)

9(9><8><7><6><5><4><3><2><1)+2 &l HEH
;g7

(a) 11!
(b) 10!

() 10+10!

(d) 11+10!

afe 4=({1, 2,3} }, N 4 ¥ 9w

e (YR ®e) # fhad sma
e ?

SDFR-S-HTM - A

24,

25.

(@ 1
(b) 2
(c) 4
(d) 8
afg a, b, ¢ TOIRR Ao (GP) #F ¥, vl

a>0,b>0,¢>0%, ar feafafeg &
¥ F9-7 G € 2

1. a2, b2, c2 IR ol (GP) & §
2.5 L 1 i it ) ¥ #

3. {/E,\/E,JEWM(GP)ﬁ%
R w1 g & W@ W ad W
3ﬁm: .

(a) &aad 1 3K 2

(b) Fae2 IR 3

(c) ¥ad 1 3R 3

(d) 1,233

afe ﬂ;b, b, b;c s vt (HP)

# €, @ freafafes & @ -wr wd
g7

(a) a, b, c GO Avit (AP) # &
(b) a, b, c IR AVl (GP) F &

(©) a+b, b+c, c+a TR It
(GP) ¥ &

(d) a+b,b+c,c+aTATR A0 (AP)
R
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20. Let a and B (a>p) be the roots (@ 1
of the equation x> — 8x + ¢ = 0. If

a? — B2 = 16, then what is the value (b) 2
of ¢?

(© 4
(a) -15

(d) 8
(b) -10

24.If a, b, c are in GP wherea >0, 5> 0,

(©) 10 ¢>0, then which of the following

are correct ?
(d 15

1. a2, b2, c? are in GP

21. What is the maximum value of n such

that 5” divides (30! + 35!), where n is a gl AR
natural number ? YA€
(@) 4 3.'a, \b, Jc are in GP
(b) 6 Select the correct answer using the
code given below :
®
©)-. 7 \\Q _
Q§ (a) 1 and 2 only
@ 8 S
$Q\ (b) 2 and 3 only
22. What is the v Qe of (¢) 1 and 3 only
2(2x1)+3(3x2x1)+4(4%3x2x1)+
S5(5%4%x3x2X )M NS, ccocee cinenn * (d) 1,2 and 3
9(Ix8XTx6x5x4x3x2x1)+2 ?
(@) 11! 25. If a;b, b, b;c‘ are in HP,
(b) 10! then which one of the following is
correct ?
(c) 10+10! :
(a) a, b, c are in AP
d) 11+10!
@ (b) a, b, c are in GP
23.If A={{1, 2, 3}}, then how many (c) a+b,b+c, c+a are in GP
elements are there in the power set :
of 47 (d) a+b, b+c, c+a are in AP

9 A - SDFR-S-HTM
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26. cot?15° + tan?15° & HH T § ? 29. 9f% tan(45°+0) = 1+sin260 B, el
-%<9<% ®, @ cos20 F HA w1

(@ 12
®) 14 .4
© 83 el
@ 4 ® 3
27. @& Bs ABC H, =
sind — cosB—cosC=0% | | d 2

Hivr B s seR © 7
30. |19 ?ﬂﬁrq sin20= cos36, Sl 0 Th

(a)% ﬂ[—;@mtlaalusmemmw
z oo N5-1
(b) 4 (WE%QTW%%SHIIS —"'—4—)
(©) % K\@ @ 3
&6 ®) 2
N3
n
i a0 e
&
@ 3
2s.trF¢a+ﬁ=-’}sﬂ-<2tana=1%,
. TR tanf=-> &, A si
at tan2p forae aweR € ? 31. 1< tanf = -->- %, A sind F A FT
B uEHaT R 7
1
5 5 5
@ 73 &g -3 T @ www
2
®) 3 : :
(b) —ﬁ,ﬁﬁﬁaﬁ‘s’rm
9 % 5 5
(c) EBNEIT—E
@ 3
5 (d) I9dE & ¥ I T
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Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

26. What is value of cot?15° +tan?15° ? 29, If tan(45°+0) = 1+sin20, where
T <9< X, then what is the value of

@) 12 4 4
cos26 ?
®) 14
@) 0
©) 83
1
@ 4 ®) 3

() 1
27. In a triangle 4BC,
sin4 — cosB —cosC=0. @ 2
What is angle B equal to ?

30. Let sin260=cos30, where @ is acute

)% angle. What is the value of 1+ 4sin@?
(given that sin18° = @)
n
®) 3
Q @ 3
n
&
@ % § © 5
S @ 3
28. 1fa+ﬁ=%and2tana=1,thenwha: :
istan2ﬁequalt0? 31. If tan9='—ﬁ, then what can be the
value of sin0?
1
@ 3
? (@) -1% but cannot be —-1%
®) % o -
(b) 13 but cannot be 13
) % 5 5
(c) B3 13
@ 2
5 (d) None of the above

11 A — SDFR-S-HTM
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32. cos4%+cos4% &AW T R ?

N

(@
®) 3
© 3

@ =

02 T leasl 2 W
33.sm(4+9) sm[4 9)

feraes sk ® 7
(a) sin26
. (b) cos26 ®
&
(c) 2sin@ NS
N
N
(d) 2cos6 @Q
NS

34. TF FEER R TH @fost gwHad w)
Gl § IR TH SR hEE T OTE
EI9CUE HEATER W9l ® | WA & foredt
fog | =oee § Tw Ik i &
IHA HIO HAW: 0 AR 20 ® | TR

& =TS TR ?
(a) hcos6
(b) hsin®
(c) hcos20
(d) hsin26

SDFR-S-HTM - A

35.

36.

37.

Ve G H IAGT I 60° ¥ gRafea
B O | UgEdT § A TH TR RN
VAT x WX Tl B St © | afe eeR
& FATE 3x Wex R, @ Frfofea &
FHA-A1 |t R ?

@ 0<0<30°
(b) 30° < 6 < 45°
(c) 45° < 0 < 60°

(d) 60° <6< 90°

(4 =
qﬁ tan 1(5)+tan l(%)=% %i Glﬁ
0<x<6%, ol x oo s ® ?
@ 1
(b) 2
(c) 3
d 5
afg 3sin'x + coslx = 7 B, @ x fFas
TR B ?

(a) 0

B | —

(®)

i

(©

(@

sl
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32. What is the value of

4T | ot O 9
cos* “2F +cos* 2 1

@ 3

Alw

(®)

colw

(©)

@ =

33. What is sinz(-f-f— +6) - sinz(% —9)
equal to ?

(a) sin20
(b) cos26 SQKQQ
S
: N
(c) 2sinf QO

N
(d) 2cos6 @QQ

34. A vertical tower stands on a horizontal
plane and is surmounted by a vertical
flagstaff of height 4. At a point on the
plane the angles of elevation of the
bottom and top of the flagstaff are 6
and 26 respectively. What is the height
of the tower ?

(a) hcos6
(b) hsin
(c) hcos20

(d) hsin20

35. The shadow of a tower becomes x

metre longer, when the angle of
elevation of sun changes from 60° to 6.

If the height of the tower is 3 x metre,

then which one of the following is
correct ?

(@) 0< 6<30°
(b) 30° < 6 < 45°
(c) 45° < 0 < 60°

(d) 60° < 6.< 90°

2 3
0 <x < 6, then what is x equal to ?

36. If tan"l(-l—)+tan_l(£) =%, where

_. ('a) 1
(b) 2
(©) 3

@ 5

37. If 3sin"!x + cos"'x = 7, then what is x
equal to ?

@) 0

(b)

B —

© 71—5'

&=

()

A — SDFR-S-HTM
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38.

39.

40.

af¢ tana + tanf= 1 - tana.tanB 8, &

tanotanf=1 ®, @ frafafea # @
F-|T (@+f) & #F & ¥ @ AF
g

@ %
(4
®) 7
© 3
b/
@ 5
afe (1+tanf)(1 +tan99)=2 B, @
tan(100) & /W T ¥ ?
$
RQ
(@ 0 §Q§
\Q‘G
®) 1 @Q
$
(c) 2
(d) 3=a
sin0° + sin10° + sin20° + sin30° + ... +

$in360° W A FT R 7
(@ -1
(b) 0
) 1

d 2

SDFR-S-HTM - A
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41.

42,

T A={1, 2, 3, 4} & uA
Juaeaal | fer g | o J
o wgea (4} & srftregea € 7
(@ 6
®) 7
(© 8
d 9

Qs w=aat 4 3R B & wew #
frafafaa w97t w® far i .
1. x¢(AUB) = x¢gA A94aT x¢B

2. x¢(ANB) =5 x¢A IR x¢B

IEH H ¥ HE-91 /-8 FET T
/€
(a) &9 1

(b) Haw2

43.

(c) 13R2g=t

(d AA 1,782

o aifceh o=l 4 3R B % way #
freafafaa w97t w R 6ifto .

1. AUB=ANB afg 3R Fa=w afe
A=B

2. AAB=p 3} 3R %=« afc 4=B
S # ¥ FA-A1/FE-§ T 6@
R/R?

(a) ae 1
(b) Faw 2
(c) 13K 23t
(@ Fd 1,782
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38. If tana+tanf=1-tana.tanf, where 41. Consider all the subsets of the set

tana.tanf#1, then which of the A={1,2,3,4}. How many of them are
following is one of the values of supersets of the set {4} ?
(at+p)?
(@ 6
® = ® 7
(© 8
n
® @ 9

42. Consider the following statements in

(c) % respect of two non-empty sets 4 and B :
1. x¢(AUB) = x¢A4 or x¢B
n
@ 3 2. x¢(ANB) = x¢A and x¢B

Which of the above statements is/are

39, If (1 + tan@)(1 + tan96) = 2, then what correct ?
is the value of tan(100) ?

& (@) 1 only
(@ 0 g&\Q (b) 2 only
®) 1 \Q(b. (c) Both 1 and 2
© 2 @QQ (d) Neither 1 nor 2
c
. 43. Consider the following statements in
(d) Infinite respect of two non-empty sets 4 and B :
1. AUB=ANB iff A=B
40. What is the value of
sin0° + sin10° + sin20° + sin30° + ... + 2. AAB= ¢iff A=B
sin360° ?
Which of the above statements is/are
@ -1 correct ?
® 0 (a) 1 only
(b) 2 only
eyt (c) Both 1 and 2
d 2 (d) Neither 1 nor 2
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4.3 2-5xy+4y2=0 ® @ xRy T 46. - = S
sRenfia gl wem & wem N ke o

W R & AR # Prafifed wE w i=-1%7
fem $ifsg . i
4
l. R&qA ?
® -7
2. R wufim &
3. R G ® | © 7
I ¥ FA-T/FA-Y AT R e
R/%? 2
@ Fa@ 1 ' gx |
47. E_J.) F AG  (AiegEE
(b) Fa2 ( 2 2 )
(©) Fae 1 9K 2 NN
. 1
@ 1,23R3 @) 7
4sﬁwhagm,4wﬁwh% (b)%
ﬁ-‘ﬂlﬁﬁrﬁiﬁﬁmﬁ%@%‘nﬁm © 1
1?&3@3@%@?&'%&@@@% (d) 22
2;&'”“'“% AR TR g5 fefirfee wvit W P e -
3.af R wEm 2, @ R W 12 6% fvra &, Wt n>32
. : 2 3,’,+3 78 fawrsw ®, sEin>32
IGeH H A HA-G1/FH-Y FI9 G
| V4 & . SEH # ¥ IA-A1 /- F99 G980
St 1 9% i
2 Pl . (a) &9 1
(b) Faw 2 3R 3 RS
() Faa13R3 o)1 et
(d) 1,23ﬂ'{3 (d) 7{?‘?[ 1’-.-_[-@2
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44,

45.

Consider the following statements in
respect of the relation R in the set IN
of natural numbers defined by xRy if
x2—5xy +4y*=0:

1. R is reflexive
2. R is symmetric
3. R is transitive

Which of the above statements is/are
correct ?

(a) 1 only
(b) 2 only
(c) 1and?2 only

(d) 1,2 and 3

Consider the following stat ts in
respect of any relation R g}\ set A:

1. If R is reflexiv R Lis also

reflexive Q
@$
2. If R is symmetric; then R -1 is also
symmetric

3. If R is transitive, then R™! is also
transitive

Which of the above statements are
correct ?

(a) 1 and 2 only
(b) 2 and 3 only
(¢) 1 and 3 only

(d 1,2 and 3

17

46.

47.

What is the principal argument of —— 157 +
where i =+/-17?

_3n

(@

F=Y

(b)

|
EN

(c)

N

W

1A

@ =¥

What is the modulus of

ZD

(a)

a—

(b)
(c)
(d)

—_— Nl,_.

2200

. Consider the following statements :

¢ o 3| is divisible by 6, where n> 3

2 3, +3 is divisible by 7, where
n>3

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2
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49. 9 faenfidi # AsReeRdt R ww dm 52, 9R Fdt e Aoht (AP) =7 57 wg

foram ot & Tt o Wt € arfE @ 1 gl
fidw ReefRdt 2 A & AT <@ S 10 & oM R 10T W 3}, @
qF ? 50 9GT ST ARTHe FGT BRI ?
(a) 14 (a) 25
(b) 21 (b) 255
() 35 e
d 42
(d) 265

2n
4 .
- (“x) s TR 53. (1110011), + (10111), fraF =_=R
(r+1)T 9 ¥ BN (N T x F ?72

Faie! wal § Fafer @) ?

@ Eon (2) (101),
a n, n ®

S (®) (1001),
(b) C2n, n—1)x NS

\Q‘G .
(¢) C(2n, n) $Q (© (111)

$

(d) Cc@n,n-1) ; (d) (1011),

51. afg foedt wwiak it (AP) & waw 9 54. afg x3+y3=(100010111), 3R x+y =

W W ANEA, I9F WA 11 US & (1111), & @ @-yP+x s
NG F SER 2, a9 I@F WEH 20 TR B ? i
TG 1 ANHS FT 7
(@) (1101),
(@ 20 -
®) 10 (b) (1001),
© 2 () (1011),
@ 0 _ @ (1),
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49.

51.

. In the expansion of (x+%)

In how many ways can a team of 5
players be selected out of 9 players so
as to exclude two particular players ?

(a) 14

(b) 21
©) 35

(d) 42

2n
, what is

the (n + 1)th term from the end (when
arranged in descending powers of x) ?

(a) C(@2n, n)x

S
&

N

S

d) C@n,n-1)

(b) C@2n,n—1)x

() C(2n, n)

If the sum of the first 9 terms of an AP
is equal to sum of the first 11 terms,
then what is the sum of the first 20
terms ?

(@ 20

() 10

() 2

d 0

19

52.

53.

1

If the 5™ term of an AP is 0
10t term is % then what is the sum of

and its

first 50 terms ?

(@ 25

(b) 255

() 26

(d) 265

What is ((1110011), + (10111), equal
t0.?7

(@ (101),

(b) (1001);

(©) (111)

(d) (1011}

 If x3+y3=(100010111), and x+y =

(11111),, then what is (x—y)*+xy
equal to ?

(@ (1101),
(b) (1001),
(¢) (1011),

(d) (1111),
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55, srafieTat

57.

e 1+[ﬂ)2 =["_23’T

5x—4y+12<0,x_-!-y<2,x<03ﬁ'{
y>0R fmr $ifsg | Frafafea % @
a1 fog wdfrs 8 & & 2

(@) (0,0)

() 2,4)

© 1,4

@ L2

CEET y=[x], xe(-1,1) ¥ HEg H

frafafaa 9t w fer fifte, wef
[.] #eww quitsh Her @

1. x=0-5 R 30H Ja&esl 0 §
2. 98 x=0-5 R §ad ¢

I # ¥ -9 /B-¥ F99 GE
g/8 7

(@) &9 1

(b) Faa 2 @Q\
N

(c) 1323t

d FdA1L,AE2

£

dx dx?

& I T ?

(a)

(b)
(c)
(d)
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58. U Wt el F &g om B w,

59.

38 v & frmm W F wwEd
® 1 3k smar werd 100 awt ¥ em
BT R, @ w@ fRRiw (s
foris) = 2 2

(a)
(®)

© Too

@700

BT f(x)=y1-(x-1)> T W@ T
e ?

@ (0, 1)

®) [1,1]

© (0,2)

@ [0, 2]

LUE@T P =4k IR WE AhEe

(dted Wen) TR uRag &7 &1 S
24 7 S B, SRl k> 0% | kS A
FE?

(a) 1
(b) 2

ey 3

(d) 4
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55. Consider the inequations

5x—4y+12< 0, x+y<2,x<0 and
y>0. Which one of the following
points lies in the common region ?

(@ (0,0)
®) 2,4
© 1,4
d 1,2

56. Consider the following statements

in respect of the function y=[x],
xe(=1,1) where [.] is the greatest
integer function :

1. Its derivative is 0 at x=0-5
2. It is continuous at x=0

Which of the above statements is/are

correct ?

5
(@ 1 only &s

(b) 2 only @QQ}

(c) Both 1 283>

(d) Neither 1 nor 2

57. What is the degree of the differential

4
2 2 3
y dy\ _ d°y
equation 1+(—l ] —[—2] ?

()

N Wb

(b)
(c) 3
d) 4

21

58.

O

60.

A radioactive substance decays at a
rate proportional to the amount of
substance present. If half of the
substance decays in 100 years, then
what is the decay constant (propor-
tionality constant) ?

In2

@ 100

—

®) 360
00

]

5
10
(0 e

21
(I -

[ 06

What is the domain of the function
f (J|C)=w/14(x—-12 ?

(@ (O, 1)

() [1, 1]

(¢) (0,2)

@ [0, 2]

The area of the region bounded by
the parabola y? = 4kx, where k > 0 and
its latus rectum is 24 square units.
What is the value of k£ ?

(@ 1
(b) 2
(© 3
d 4
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dx

5 64. [ X dx T w7
61. | o fereres SRR 8 7 I_z 1]
=3
@ -1 (b) -1
© 1
1 _
® 3 @ 2
© 1 _ 65. sindx + 2x % T womm /8, wei
O<x<Z %7
@ 3 @ 1
(b) 2
62. J.(sinx)_m(cosx)_mdx s SR (ke
5 @ 8
ORI
e 66. T f () = e —— Fftreram
& mﬂw%,agi0<x<%%?
(b) 2tanx +c¢ O
N 1
S @ 1
(¢) +cotx+c Q(b'
@Q\ 1
(d) ~2tanx+c @ ®) 2
© 1
_[_€ldx o0 W @ 2
63. 7R 4 J.ex+e_’ P L e* +1
&, @ 1+ I frud st R 7 67. afg
x e ()4
0, gre A £(2) e sTeR R 2
®) x+c @ 2
B (b) 1
© In(e*+eM+e s
d) Im(e*-e®+c ' @ 4
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61.

62.

dx
+cosx)

n
What is _[04 i > equal to ?

@ =i

®) 5

(© 1

W

)

What is _[(sinJr)_l"z(cos.wr)-z”'2 dx equal

to ?

(a) +“tanx+c

o S
(b) 2+tanx+c K\

§Q§
(c) ~cotx+c \Q(b'
@Q

JZunx &
(d) ~2tanx+

< edx = _dx
If I = R and 7, 2"

then what is I; + I, equal to ?

@ 2+

(b) x+c
(c) In (e‘+e‘f‘)+c

d) In(e*-e*+c

23

64.

67.

What is J'_l li;-ldx equal to ?

(a) -2
(®) -1
© 1
d 2

. How many extreme values does

sindx + 2x, where 0 <x < % have ?
(@ 1
(b) 2
) 4
(d) -8

. What is the maximum value of the

1

—————  where
tanx+cotx

function f(x)=

0<x<%?

(@)

|-

(b)

(©
(d

N = =

If

4f(x)-—f(%)=(2x+%) (2;:-}1-),
then what is f(2) equal to ?

@ 0

() 1

© 2

d 4
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68.

69.

70

71.

AR y= R Mr=1W

afg f(x) = 4x +3 R, T fofof (1) fras
R § ?

(@ -1

(®) 0

() 1

d 2

MY =18 1, 1)E %ﬁmﬁs
TR B ?

(a) -1

() 0

© 1

@ 4

&3

TR (&\@_
S
@ 1 S
$
() 1
(o) 2
@ 4

A T y =[x+ 1], -4 <x < -3, &
[.] WeT™ Quils %o ® | x=-3-5 R x
& Gy H y T AFhers 4T © ?

(@) -4
() 35
(c) 3
d o
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72.

73.

74.

75.

afe %=(In5)y, &l p(0)=InS B, &
y(1) fererer ST # 7
@@ 0

(®) 5
(c) 2in5

(d) 5In5
W f(x)=10* % Geaw # Frafafes
R faar Hifvm

1. TS WA (—o0, ). ®

2. I8 TS dad Bel €

3. 98 x = 0 IaFe1g ©
I H W - T w7
(a) “Hae 1 3R 2

(b) Fae 23R 3

(c) Faa 13K 3

(d 1,23R3

lim

x_)ox:’(cosecx)zﬁ?ﬂaﬁmﬁ?
(@ 0
1
(b) 5
(© 1
(d) ¥ @ sfere 7@

i 2ol frad ?
el g R § 7
(@) 0

() 3

(c) 6

(d) o o sfera 781 ©
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68.

69.

70.

71.

If f(x) = 4x + 3, then what is fofof (-1)
equal to ?

@@ -1
(b) 0
© 1
d) 2

If x”y* =1, then what is % at (1, 1)
equal to ?

@ -1

(®) 0

© 1

(d) 4

If y = (x*)*, then what is the value of
% atx=17?

Let y=[x+1], -4 <x<-3 where [.]
is the greatest integer function. What
is the derivative of y with respect to x
at x=-3-57

(@) -4
(®) 35
© -3
(d 0

25

72.

73

74.

75.

If 7 L (In5)y with y(0)=1In5, then
what is y(1) equal to ?
(@ 0
(b) 5
(c) 2In5
(d) 5inS
Consider the following in respect of
the function f(x) = 10*:
1. Its domain is (-c0, )
2. It is a continuous function
3. It is differentiable at x=0

Which "of the above statements are
correct ?

(a) 1 and 2 only
(b) 2 and 3 only
(¢) 1 and 3 only
(d 1,2and 3

What is li_m’0 x> (cosec x)? equal to ?
(a O
1
®) 5
{c):. 1

(d) Limit does not exist

3
SraEe =1
What is lim = equal to ?
Jx—l

x—1

(@ o0
() 3
(c) 6

(d) Limit does not exist
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76, Frafafaa & ¥ fFa swe & wom 79.3f¢ xy=4225 &, W&l x AR y "AYl

; ; _13 7 2 - i
f(x)=5 =5~ +6x +5 FTEAM R ? ‘ ;@:Tt{'ﬁ,ﬁrxd-y H AH W
@) W (=, 1) (a) 130
(®) (1,6) (b) 260
o ©) 2113
& ) (d) 4226

' 80. THIERU x == — 2y = 0¥ forefia w<an

42
77.3R x=2 R WA f(x) =7 +2nx+1 '
H FEEFAS YA T, A m+ 8n F AA (a) TH WA @-FA
TR (b) TF T
@ -2 (©) TH TAa-F
®) 0 (@) TF qregT-Fe _
@2 §<\Q® 81. 7R Fifwiw (-5, 0), (502, 10p) oK
i S (5¢%, 10g) T foig TG &, A pg
(d) maa(%a)@%mﬁafﬁa q R, T prg B2
aﬁfﬁmma@
S @) -2
78. 9% y=x IR y=xF A= #, v (b) -1
Jquiy # wAEfE &7 & &awd . © 1
2 @2
@ g = 82. 98 & a1 1 W w1 & W fig
(1, -2) & ToRd ® 3R @l W R
®) i_aﬁm Fa:@e St © ?
(@ x+y-1=0
© %aﬁﬁré T
© x+y+1=0
(d) 1 = s (d x-y-2=0
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76. In which one of the following intervals 79. If xy=4225 where x, y are natural

; : 2 152 numbers, then what is the minimum
is the function f (x) = 5-——5— +6x+5 value of x+y ?
g @ 130
(@) (-, 1) only (b) 260
®) (1, 6) Sl
(d) 4226
(c) (6, ) only
d) (-, 1) U (6, ®) 80. What does the equation x% ~2y=0
’ represent ?
77.1f the derivative of the function (2) A family of straight lines
f(x)="+2nx+1 vanishes at x=2, (b) A family.of circles

. 9
then what is the value of m + 8n ? (c) A family of parabolas

(a) -2 (d) A family of ellipses
(®) 0 Q 81. If the points with coordinates (-5, 0),
%Q (5p?, 10p) and (5¢2, 10q) are collinear,
(c) 2 : S then what is the value of pg where
& )
D P#q!
(d) Cannot be ined - due to 2
insufﬁcient§ @)
() -1
78. What is the area included in the first (c) 1
quadrant between the curves y =x and
1 ) 82. What is the equation of the straight line
(@ R PIUaIC Ui which passes through the point (1, ~2)
- and cuts off equal intercepts from the
1 axes ?
- square unit
ik S @@ x+y-1=0
1 b) x-y-1=0
(c) 5 square unit
(c) x+y+1=0
(d) 1 square unit d x-y-2=0
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83.36 I o wHiGRU T § ST wuw
wgaier # QM @t sk @ry-2=0%
wiFwarg?

@ 2+y?-2x-2y-1=0
(b) 2+y*+2x+2y+1=0

(€) X*+y*-2x-2y+1=0

(@ x*+y*-4x-4y+4=0

84, ATt (-3, 0) 3R fgar x-3=0 T
TRadT T GHIER T § ?

(@ y*=3x
(b) x2=12y %QQ
&6
© =12 NS
@Q
$
(d y*=-12

85. Afgm x2+2y2=1 &t TRl & o=
RNQTR?

(@ 1
®) V2
© 2

@ 242
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86. W whiforg femet Pt 4BC i wemait
BC,; CA 3R AB #t w=irgat #9W: a, b
R c® | AR p 3w Bt o wfwma sk
q FTEA B, @

p(p-za)tan(g)ﬁmﬁaatm%?
(@ ¢

(b) 29

(© 3¢

(d 44

87. U O Wl x+2y+2=0 IR

2x—3y—3= 0% wheog fag & ToRadl
R w1 wguly § sWeR sawne

Sl § | Id:Evel & U™ WAl
ANTHS T 8 ? :

(a) 2
(®) 3
() 4
d) 6
88. T wfv=et & srefm @

ax+by+c=0dR bx+ay+c=0
AR (a#0,b#0) € ?

(@) FaT a—b=0
(b) FaT a+b=0
() @-b*=0

@) ab+1=0
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83.

84.

85.

What is the equation of the circle
which touches both the axes in the first
quadrant and the line y—-2=07?

(@ x¥*+y?-2x-2y-1=0
(b) x>+y*+2x+2y+1=0
(€) X2+y*-2x-2y+1=0

(d) x2+)>—4x-4y+4=0

What is the equation of the para-
bola with focus (-3, 0) and directrix
x-3=0?

(@ y*=3x
() x*=12y ‘(\Q®
S
(© y=12 @9
$
() y*=-12

What is the distance between the foci
of the ellipse x%+2y2=17?

(@ 1
(b) 2

©) 2

d 22

29

86. Let a, b, c be the lengths of sides BC,

CA, AB respectively of a triangle ABC.
If p is the perimeter and ¢ is the area
of the triangle, then what is

(5~ 24) m(i‘z;) equal to?
@@ ¢

() 2¢

() 3¢

(d) 4q

87. A straight line passes through the
- point. of intersection of x+2y+2=0

and 2x - 3y — 3 = 0. It cuts equal inter-
cepts in the fourth quadrant. What is
the sum of the absolute values of the
intercepts ?

(@ 2

(b) 3

(c) 4

(d 6

88. Under which one of the following

conditions are the lines ax + by + ¢ =0
and bx + ay + ¢ = 0 parallel (a # 0,
b#0)?

(@) a—b=0 only

(b) a+b=0only

(c) @®-b=0

(d ab+1=0

L]
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89, @r x+y=p® FSuis @t ¥ FeA
R YW @rEe & weafag F fagea @
Tt &1 ?, (T p & aafaw
& R) ?

I(a) x-y=0
(®) x+y=0
© x-y=p

(d x+y=p

90. af% f&g (x, y) 75 (24, 0) 3K (0, 3a)
%W@tﬁ%,wﬂ>0%’ a
frafafa # @ S-mad & 2

@@ 2x-3y=0
(b) 3x—2y=0

&@&
(d) 4x-6y-5a=0
Q\@
T f (03) vt H N P w
foem fifsg -
THAA 6x+hky+3z—12=0, 9@ k#0 B,
e et @ AN 4, B 3R C R @rear
? | y@feg 3R 4, B, C ¥ oA a1 N &
TR 2 +)2 + 22— 2x—3y—4z=0% |

(c) 4x-6y+5a=0

9. kI AR FT & ?
(a 3

(b) 4
(c) 6

@) 12
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92. A p 7 F ¥ ¥ THAW W wwaEa g
A fefrfa dd sm-arad & 2

(@ 0<p<05
(b) 05<p<1
() 1<p<15
@d p>15

93, @Ry R M ¥ I A RA AWR
T T G TR ?

@) x=y=z

) 2x=3y=4z

© 6x=3y=4z

) 6x=4y=3z
A (02) vt F forg frfofes ® e
;ﬁﬁ;rq.

2x,2y . z_
A aHa k+3+3-2,ﬁ|§

(2' 3! _6)% w .g |

94. wHad R forelt sfdeia ¥ Reg-smquma
TR ?

(a) <3,2, 1>
(b) <2, 3, 6>
(c) <6, 3, 2>

@) <1,2,3>
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89. What is the equation of the locus of the
mid-point of the line segment obtained
by cutting the line x + y = p, (where p
is a real number) by the coordinate
axes ?

@ x-y=0
() x+y=0
© x-y=p
d x+y=p
90. If the point (x, y) is equidistant from

the points (24, 0) and (0, 3a) where
a > 0, then which one of the following

is correct ?

(a) 2x-3y=0

(b) 3x-2y=0

(c) 4x—6y+5a=0 SK&QQ
(d) 4x—-6y—5a=0 L

N
&

N
Consider the follo@ for the next three
(03) items that follow :

The plane 6x + ky + 3z~ 12.= 0 where k# 0
meets the coordinate axes at 4, B and C
respectively. The equation of the sphere
passing through the origin and 4, B, C is
242 +22-2x-3y—4z=0.

91. What is the value of k ?
(@ 3
(®) 4
() 6
@ 12

31

92. If p is the perpendicular distance from
the centre of the sphere to the plane,
then which one of the following is
correct ?

(@ 0<p<05
(®) 05<p<l1
() 1<p<1s5

d p>15

93. What is the equation of the line
through the origin and the centre of the
sphere ?

(@) x=y=z
(b) 2x=3y=4z
(c) x=3y=4z

(d) 6x=4y=3z

Consider the following for the next frweo (02)
items that follow :

Let the plane %+2Ty+%=2 pass through

the point (2, 3, —6).

94, What are the direction ratios of a
normal to the plane ?

(@)
(b)
(©)
(@

3,215
<2, 3, 6>
<6, 3, 2>
<}, 2.3>
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95.aft 3@ wHaw g fews FEl W 98, frafafa Fuat w fmr $ifte .
1Y Y, 3{ATES AN p, g IR r |,
@A (p+g+r) frad s g ?

(@ 10
a 2. afey AEe, ARy AEE |
() 11 ! .
(c) 12 _
3. wfeat &1 Wiy oEwd e
@ 13 fer
96. afe 47 + j -3k 3R pi +¢j -2k wXd ;&;ﬁ?ﬁ ¥ FA-T1/FF-¥ T &
afewr £, ?ﬁpﬁ’(qaﬁ e " >
T T ? (@) ¥ 1
@@ 4,1 & el e
i e | - (o) ¥aw 13K 2
g2
© 33 i @ 1,233
@ %3 g@ 99. 4 T @, b IR ¢ M PR
N o v R OB =2 # | W
et 4 Frrafafea Foat = fer 6if
97. aft il Pt ABGE Wi 4B UK C .
% feufa afew 3,5 IR ¢ & Laf B ¥R ¢ fu o £ @ 2
R G = P =1 &= @, @ 4G R .
mat.l??%? 2.9 7 R P RumEd ¢
(@) a+b+c N
A5 sfecfta
£ R S H ¥ H-°1 /-8 FEH
(b) 2a—3b—c /%7
(a) Fad 1
©) b+63—-2a e s
iy (c) 1323t
@ 8-2b-2¢
3 @ TN, TE2
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95. If p, g and r are the intercepts made

by the plane on the coordinate axes
respectively, then what is (p+g¢g+7r)
equal to ?

(@) 10
(b) 11
© 12
@ 13

96.If 4i+j-3k and pi+qj-2k are

collinear vectors, then what are the
possible values of p and ¢ respec-
tively ?

(@ 4,1
®) 1,4
8 2
58 Q
\\Q
@LE L
S

- 7P = S
97.1f a, b, ¢ position vectors of
the vertices 4, B, C respectively of a
triangle ABC and G is the centroid of
the triangle, then what is 4G equal
to ?

() |t

) 2e_Dep

(@

98.

99.

Consider the following statements :

1. Dot product over vector addition
is distributive

2. Cross product over vector addition
is distributive

3. Cross product of vectors is asso-
ciative

Which of the above statements is/are
correct ? :

(a) 1 only
(b)_ 2only
(¢) 1 and 2 only

(d) 1,2 and 3

_}
Let E), b, c bgthnee non-zero vectors
such that ax b = ¢. Consider the fol-
lowing statements :
_}
1. @ is unique if b and € are given

-, . =P = .
2. c is unique if @ and b are given

Which of the above statements is/are
correct ?

(a) .1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2
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100. 5 i 7 Ik b, o S alw =

101.

102.

var & f6 [a-bl<2 2 1aR Tk B
& < @ 20 B, @ Frefafea 3
F-61 W R ?

(a) e 0<sinf<1
(b) Fae —%<sin6<-21—

(c) ¥ad —1<sinf<0

(d) -1<sinf<1

1,2,3,4,59 & q 3% Agfoos &7 @
T 9§ R 9% g & o
WA | 36 w1 B Wik €
T UAEA H Al 3H 0 Y ?

@ 15
1 &
(b) 3 N
Q\@
© %‘ @$
@ %

TH VAR ¥ WH &9 (@) F Age

argfa o (Uehegerhl WA §Y) TS
IR foww 2 | 9% @ 71 fasd foapren
T T & ? '

(a) W;mﬁm > agE
(b) WTEA > Eerh > HIEAHT
(c) wiferar > wen > sges
(d) g > Aifera > wiey

SDFR-S-HTM - A
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103. 9= HTHE WEOIT T WER0T 368 | AR

104.

105.

3 V@O F ¥ 9K V0w 2,2, 4,5 €, @
AY Ve TR ?

(@) 4
(b) 5
© 7

@ 9

& i At (AP) % 50 YGT & IR
HTeT 91 BT orae wuw ug 4 3R 91
FR4R?

(a) 50

(b) 51

(c) 100

(d) 102

21, 34, 23, 39, 26, 37, 40, 20, 33,27 &
e e e (wrer & foran )
FE?

(@) 011

(b) 0-22

() 033

(d) 044
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100. Let 7 and 3 be Wb wnit  vectors such 103. '1:h:: v_ariance of five positive obse_rva—
Ly = : tions is 3-6. If four of the observations
that Ia—b|<2. If 260 is the angle

4 i are 2, 2, 4, 5 then what is the remaining
between a and b, then which one of observation ?

the following is correct ?

(@ 0 <sind<1 only "
®) -3 <sinf<jonly ® 5
(¢) -1 <sinf <0 only . © 7
d) -1 <sin < 1

@ 9

101. Two digits out of 1, 2, 3, 4, 5 are
chosen at random and multiplied :
together. What is the probability that 104. What ‘is the arithmetic mean of 50

the last digit in the product appears terms of an AP with first term 4 and
as 0? common difference 4 ?
1
@ 1o | (a) 50
&
®) 1 > ®) 51
\Q‘Z)-
© 2 @Q (c) 100
s
(d) 102
4
@ %
\ : 105. What is the coefficient of mean devia-
102. The frequency curve (assuming uni- tion of 21, 34, 23, 39, 26, 37, 40, 20,
modal) corresponding to the data 33, 27 (taken from mean) ?

obtained in an experiment is skewed to
the left. What conclusion can be drawn

from the curve ? (@ 011
(a) Mean > Median > Mode (b) 022
(b) Mean > Mode > Median
g (c) 033
(¢) Median > Mean > Mode
(d) Mode > Median > Mean (d) 0-44
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Fe d= (03) wE & fou feafafee w
R Hifsg .

100 % & 3% Y AAT & TH T4 x,, x,,
X3, ... X, o fa=emt &1 sfisig a9 —20 § @R
92 % 4 A% Y TR WAl F W &
foremt @ <fista aFT 1402 |
106. AT &1 AT AT § ?

(a) 91

(b) 96

(c) 98

@ 99

107. 99 # & AT T T AN & WA &

K\Q
@ 0 X
&
® 10 R
$
© 20
(d) 40

108. A » & A ik T T wAN F Gy
% forget o <t arr 180 &, @ y
& AE TR 7

(a) 80
(b) 85
(©) 90
@ 95

SDFR-S-HTM - A

I wA (03) uE F forg feAfafea <=
(321) | fmr HifS ;

TS AT H 51 DT g VWIS GHIGL A0
(AP) % €, 5@ wam 92 4 ® 3R 9 3R
3%
109. WTHIEHT T AIET FT & ?

(@) 67

) 71

) 75

d. 79

110, Sreisht <t wrfedrer war § ?
@ 795
(b) 79
(c) 785

@ 77

. 111. wifees @ 3% o fa=est & e

TR ?
(@) -1
() 0
© 1

@ 2
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Consider the following for the next three
(03) items that follow :

The algebraic sum of the deviations of a
set of values x;, x,, X3, .. x, measured
from 100 is —20 and the algebraic sum of
the deviations of the same set of values
measured from 92 is 140.

106. What is the mean of the values ?
(@) 91
(b) 96
(c) 98

(d 99

107. What is the algebraic sum of the
deviations of the same set of values

measured from 99 ? ®
K\Q
(@ 0 &Q
\Q‘Zr
() 10 Q
@$
(c) 20
(d) 40

108. If the algebraic sum of the deviations
of the same set of values measured
from y is 180, then what is the value
of y?

(a) 80
(b) 85
() 90

(d) 95

Download all NOTES and PAPERS at StudentSuvidha.com

Consider the following data for the next
three (03) items that follow :

The marks obtained by 51 students in a class
are in AP with its first term 4 and common
difference 3.

109. What is the mean of the marks ?
(a) 67
(®) 71
(c) 75

@ 79

110. What is the median of thé marks ?
(@) 795
(® 79
(c) 785

@ 77

111. What is the sum of the deviations
measured from the median ?

(a) -1
(®) o
(c) 1

@) 2

A — SDFR-S-HTM
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I W= (03) 9 F o Feaffee =
(321) | =R fifvg .

s A () F forg 90 s € | s A
WEms | THAIPR AT I
w IR

wrawmt | fR-wramt
€ wea N wear
A
3§ & 18 9
I
g
FH F 36 27
ERAE] ‘
= @R Gar e & % R ved amdes
& GETER o T 9 was € IR T
7 e & fo R vea smes 1w
R A 3o & I ?
N
112. P(Gﬂf‘)mﬁmﬁ%%\\g
I S
(a) 3 $Q\Q
®) 2 N
© %
4
@ %

113. P(G|T) fired s & 2
(a)
(®)
©

N Qe Qw9

@

SDFR-S-HTM - A

114. P(TIE) v R 7
@
®) 3

(©)

wlw

(d)

Hlw

F @ 03) v F o Feafafes =
(37) | =R $ifsg

Tt s #, st # Rl i @
difea e &t weast i A 331% ¥

115. 0 &a & F1 wilkEar § & 6 st
¥ ¥ g9 ®7 F 3 FEHR 3 AR A
difea & ?

80
@ 739

(=

®) 1

o0
[u—

10
© 23

160
@ =5
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Consider the following data for the next
three (03) items that follow :

There are 90 applicants for a job. Some of
them are graduates. Some of them have less
than three years experience.

Number of | Number of
graduates |non-graduates
At least
3 years 18 9
experience
Less than
3 years 36 27
experience

Let G be the event that the first applicant
interviewed is a graduate and T be the
event that first applicant interviewed has
at least 3 years experience. :

112. What is P(G N T) equal to ?

1 O
@ 1 &g\
) 2 \QQ}

5 N

$

© 3

4
@ %

113. What is P(G | T) equal to ?
(a)
(b)
(c)

(d

N e Q. N

Download all NOTES and PAPERS at StudentSuvidha.com

39

114. What is P(T|G) equal to?
(@

?
4

(b)

W |

w|w

©

(d)

W

Consider the following data for the next
three (03) items that follow :

The incidence of suffering from a disease
among workers in an industry has a chance

of 331%.

115. What is the probability that exactly
3 out of 6 workers suffer from a
disease ?

80

(a) 729

[
<

(®)

oo
f—

(c) 243

160

@ -5
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116. 30 s1a Ht T Wt 6 6wl st dm (03) wEl ¥ oo feafafRea
Faa M adiRa & 7 aRearar-seq | fER fifte

-1 0-20 | 20-40 | 40-60 | 60-80 |80-100
@@ 96 g
729 qREARAT | 17 | p+q | 32 |p-3¢| 19
o F ARSARAT 1208 | 7154 50 |
® 75
118. pF AR FT & ?
(@) 25
© 343
() 26
1 (c) 27
d) —
& 729 (d) 28

117, 58 a1 & 70 W @ gEmt M g WAREIR ?

¥ YT AT T SR - R (@ 1
e @ 2 & ® 2
Q
i &6 © 3
(a) 729 \Q(b' @ 4
@Q
N :
®) 86 120. 3t wAF Fem it ARARAT T R G
729 ST, A AT T BRI ?
(@) 25
653
© 9 ®) 50
() 75
596
@ 729 (d) 100
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116. What is the probability that no one Consider the following frequency distri-
out of 6 workers suffers from a bution for the next three (03) items that

disease ? follow :
Class 0-20 | 20-40 | 40-60 | 60-80 | 80-100
(a)' % Frequency | 17 |p+gq ‘32 p-3q| 19

The total frequency is 120. The mean is 50.

®) 4 :
729 118. What is the value of p ?
(a) 25
i - ®) 26
243
© 27
¥ 28 d) 28
(d) 729 d
119. What is the value of ¢ ?
117. What is the probability that at least @ 1 '
one out of 6 workers suffer from a
disease ? (b) 2
@@ © 3
728 N
(@) =5= NS d) 4
729 S
N
§ 120. If the frequency of each class is
(b) 665 % doubled, then what would be the
729 mean ?
25
© 22 o
729 () 50
(c) 75
596 :
@ 359 d 100
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T.B.C. : SDFR-S-HTM Test Booklet Series
TEST BOOKLET
MATHEMATICS
Time Allowed : Two Hours and Thirty Minutes Maximum Marks : 300
INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU.SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST
BOOKLET.

2. Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and
Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the
Answer Sheet liable for rejection.

3. You have to enter your Roll Number on the Test
Booklet. in the Box provided alongside. DO NOT
write anything else on the Test klet.

4. This Test Booklet contains 120 i (questions). Each item is printed both in Hindi and English.
Each item comprises four %ses (answers). You will select the response which you want to
mark on the Answer Sheeg case you feel that there is more than one correct response, mark the

response which you the best. In any case, choose ONLY ONE response for each item.

5. You have to mark al responses @NLY on the separate Answer Sheet provided. See directions
in the Answer Sheet:
6. All items carry marks.

7. Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

8. After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to take
away with you the Test Booklet.

9. Sheets for rough work are appended in the Test Booklet at the end.

10. Penalty for wrong Answers :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which
a wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one
of the given answers happens to be correct and there will be same penalty as above to that
question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.
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